Principal Curvatures of a Surface

A linear transformation, P: V' — V, is called self adjoint if
<PW1,W2 >=<V_V)1,PW2 >

where <, > is an inner product of vectors. In the case of the Weingarten map,
P=W = —Dpa, and vectors W; = (aq, b1) and W, = (a,, b,). Let’s show
that W is self adjoint.

Let Wy, W, € T,S and write:
Wi = a1CDu + blq)v
+

‘7‘72 =a,d,

Then:

since W(E))u) = —ﬁu, W(@v) = —ﬁv.

—

Now using the identity: ﬁu '6,, = E’u N, we get

< W\_A_/-)l, \_/\72 > = (ala))u + bla))v) ’ (—azﬁu - bzﬁv)
=< Wl' W(Wz) >

So W is self adjoint.



There is a theorem from linear algebra that says thatif P: V — V is a self
adjoint linear map of I/, a two (or n) dimensional vector space into itself, then
there exists an orthonormal basis €; and €, of V such that P(€;) = 1,€; and

P(e,) = A,€, (thatis, €; and &, are eigenvectors and A4, A, are eigenvalues
of P).

In the case of the Weingarten map: W: T,§ — T, S, there are

orthonormal tangent vectors to S, El, Ez € T,S such that:
W(tl) = Kltl
W(tz) = Kztz.

Then with respect to the basis vectors l_?l and fz, the matrix W is given by:
kK, O
W = ( ! )
0 kK,

If K1 = Ky =K, then:

K

W=(0

2) (i.e. a multiple of the identity matrix).

Def. K1, K, are called the principal curvatures of S and t{, t, are called

principal vectors corresponding to K1, K.

Def. If k4 = K, for p € S, we say P is an umbilic point of S.



Prop. If k1 and K, are the principal curvatures of p € S, then the mean

and Gaussian curvatures are given by:

H=730a0+K), K=(0u)(c).

Proof: The determinant and trace of a linear transformation do not change when
the basis is changed. Thus, using the principal vectors as a basis, the

Weingarten map is represented by:
(5 )
0 K; '

Hence:
K = det(W) = (k1) (k) and

1 1
H = Etrace(W) = 5( K1+ Ky).
One application of principal curvatures and principal vectors is given by:

Theorem (Euler’s Theorem): Let ¥ be a curve on an oriented surface, S,

and let K4, K, be the principal curvatures of @, with non-zero principal vectors,

t; and t,. Then the normal curvature of y is:
— 2 ‘2
K, = K1 €C0S“ 0 + Kk, sin“ 0

where 6 is the angle between El and y'(t).



Proof: Let El and Ez be an orthonormal basis for T;,S with W(El) = Klfl

and W(tz) = K,t,. We can take ¥ to be unit speed since curvatures are
independent of the parametrization, so we can write:

R . '"(s) = at; + b t,; where
5 Y'(s) =at, +bt, r'es) 1 2
B cos = ——=q
Iy I
b
b ng = = b; ,
S = @l 50
4 22 Es v'(s) = (cos 8)t; + (sin 6)¢,.
a tl

We saw earlier that:
kn =< W(y'(s)),v'(s) >
=< W ((cos 0)t; + (sin 9)1?2) ,(cos 8)t; + (sinO)t, >
= < (cos H)W(fl) + (sin H)W(fz), (cos ), + (sinO)t, >

= < (cos H)Kl(fl) + (sin 8)k, (fz), (cos ), + (sinO)t, >

Kk, = (cos? )k, + (sin? 0)k,.



Cor: The principal curvatures at a point on a surface are the maximum and
minimum values of the normal curvature of all curves on the surface passing

through the point. Moreover, the principal vectors are the tangent vectors of the
curves giving these maximum and minimum values.

Proof: If K # K3, assume Kq > K5, then we can write:

K, = K1 C0s? 0 + Kk, sin® 0
= Kk, (1 —sin? @) + K, sin? O

K, = k1 — (ky — k) sin? 6.

Thus, K, < Ky since k; — K, > 0 and sin® 8 > 0.

In addition, K,, = K4 if,and onlyif, 8 = O or 7, i.e., y'(s) is parallel
to l_:)l'

Similarly, we know:
_ 2 _ ene20) — _ 2
K, = K1 €0s“ 0 + Kk,(1 — cos“ 0) = k, + (k; — k) cos“ 6

3
Thus, K, = K, with equality if, and only if, 8 = gorg e, y'(s)is

parallel to Ez.

If K1 = K, then K, = Kq cos? 0 + Kq sin? 0 = K1 and every unit
tangent vector to the surface is a principal vector since every unit vector is
an eigenvector:

(6 ) () == (5)



Cor. The mean curvature, H, is the average value of the normal curvature over

0<60<2m.
1 r0=2m 1 (0=2m .
Proof:  — J,_ " Knd® = — [ [(cos? B)k, + (sin? O)k,]dO

= i [K1 fngo cos? 6dO + k, f;:o sin? 6d0]
1 21 11

1 1 2
= 2wy 77 (5 +3c05268)d6 + ;[ (2 —2cos26) db)

[K1+K2] = H.

N | =

= — [, () + K ()] =

Recall from linear algebra, if P is a linear transformation of a vector space
V into V, then W € V is an eigenvector of P if P(W) = AW. In this case, A is
called the eigenvalue of P. This is equivalent to saying:

(P —ADW = 0.

To find the eigenvalues we solve the equation:

det(P — AI) = 0 for A.

To find the eigenvectors, W, we let W = aw; + bW,; where w; and W,
are basis vectors for V and solve for a, b in:

= () = (o)



Given a surface patch @ (u, v) for a surface, S, how do we calculate

and K, the principal curvatures?

K1 and K, are the eigenvalues of W, the Weingarten map, and we already
saw that:

W = (F{ ) (F)

where F; and F, are the matrix representations of the first and second

fundamental forms with respect to the basis CI_D)u and C_D)v.
Thus we need to solve: det(F; 1F, — kI) = 0 for k.

Notice that: det(F{ 1F, — kI) = det(F{ }(F, — kF,))
= det(F; 1) det(F, — kF;) = 0.

since det(F{ 1) # 0, this is equivalent to solving: det(F, — kF;) = 0.

We can find the principal curvature vectors, t; and t,, which are the

eigenvectors of W = F1_1F2 by letting t = aE)’u + b@v and solving:

e (3)=(0)

This is the equivalent to solving:

P e — ) (%)

or

(=)

Il
N\
o o
N——"



Recall that with respect to the basis of TpS given by E))u and E))v, we have:

F, = (g g) and F, = (I\I/J[ %)

where E, F,G,L, M, N are defined as before.

Proposition: The principal curvatures are the roots of:

|L—KE M—KF=
M —kxF N —kG

and the principal curvature vectors to the principal curvature, K, are the

0

unit tangent vectors, t = a®d,, + bd,, such that:

(e woee) ()= (o)

Ex. Find the principal curvatures and principal curvature vectors for the sphere of

radius, R.

We saw earlier that for the parametrization of S? by:

®(¢,60) = (Reos 0 sin ¢, Rsin 6 sin ¢, Rcos ¢)

We have:

P _(Rz 0 )
17\ 0 RZ%sin?¢

and

—R 0
k2 _< 0 —Rsinng)'



That is:
E = R?, F =0, G = R?sin? ¢,
L=-R, M=0, N=—Rsin?¢.

Thus, to find the eigenvalues of W we solve det(F, — kF;) = 0:

‘—R _ KR2 0 ‘ 0
0 —Rsin? ¢ — kR?sin? ¢|

‘—R(l + KR) 0 ‘ .
0 —R (sin? ) (1 + kR)|

R?sin? ¢ (1 + kR)? = 0.
K = —% , a double root so:

K1=K2=__.

Since K; = K, every unitvector t € TpS is a principal curvature vector

(for all points p € S). Hence, every point of S is an umbilic point.

Note: K1, K, depend on which direction we choose for N, the unit

normal to S. If we had chosen —N for S% we would have gotten:

K1 =Ky =



10

Ex. Find the principal curvatures and principal curvature vectors for the helicoid

given by:

?ﬁ(u,v) = (vcosu,vsinu,2u); 0<v<3,u€R

g "
®,, = (—vsinu,vcosu,2)

6,] = (cosu,sinu, 0)

- - M
SR l J k
Dy XDy, = |—psinu vcosu 2
cosu sinu 0

= —2sinul+ 2cosuj— vk

@, X D,|| = V4sin?u + 4cos?u+ v? = /4 + 2
I I v

]V . [ __ (—2siny,2cosu,—v)
om] a2
E = 6u -?5u = (—vsinu,vcosu,2) - (—vsinu,vcosu,2) = v? + 4
F = 5u -C_D)v = (—vsinu,vcosu,2) - (cosu,sinu,0) =0
G = ?ﬁv -?ﬁv = (cosu,sinu,0) - (cosu,sinu,0) = 1.



FEW = (—vcosu,—vsinu,0)

6uv = (—sinu,cosu,0)

@, = (0,0,0)

- s _(—2 sinu,2 cos u,—v) _
L=®,,"N=(—vcosu,—vsinu,0) NrEe =0
N .(—2 sinu,2cosu,~-v) = 2
M=®,, N = (—sinu,cosu,0) NrEee = T
- (=2sinu,2cosu,—v)
N=o,, N =(0,0,0) N = (.

So we have:
0 2
2 4 0 [ 44192
Fl - (v O-I_ ) and F2 - 2 v .
Va+v2

So to find the principal curvatures we must solve det(F, — kF;) = O:

2
—k(W?+4) =
2 e =0
Varo?
4
kK2(v? +4) — 2= 0
2 ___ 4
(4+v?)?
3 2
=T 4+p?

11



To find £; and t, we solve (F, — kF}) (Z) = (0):

0
2 N — —
= g2 b= d, + bD,,.
(p " M G) = ()
7w )=
2 . 2 b - O
Va+v2 4+v?

_ 2 _ _ 2
2a+Wb—O = b = aVv4 + v-.

So any vector of the form (a, av4d + vz) will get mapped to (0,0).

We want a unit vector so we must find a such that:
1=t t =a(l,V4+v2) a(l,V4+ v?)
= a2(Dy, +VE+ 02 D,) (D, + Vi + v D)
= a?(E + 2V4 + v2F + (4 + v?)G)
= a’(4 +v? + 4+ v?) = 2a%(4 + v?).

Solving for a we get:

1
V2Va+v?’

Thus El can be either:

a=+

t, = imﬁ(l,\/4+ vz).

12



Similarly, if Kk = — then we solve:

yrwg

2 7=\ ey _ (0
. )6 =)
Va+vZ  4+v2

2

2a +

— — 2
Wb—o = b = —av4 + v-.

So any vector of the form (a, —av4 + vz) will get mapped to (0,0).

Again we want to find an a so that this is a unit vector.

1=1%t,-t, =a(l,—V4+v2) a(l,—V4 + v?)
= a?(D, — V& + v2D,) (D, — Vi + VD))
= a?(E — 2V4 + v2F + (4 + v?3)6)
= a’(4 + v + 4+ v?) = 2a%(4 + v?).

Solving for a we get:

a=+= 1

T V2V 4402

Thus 1_5)2 can be either:

P S G I 2
tz—iﬁm(l, 4‘+'l7)

13
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Notice that El and fz are perpendicular to eachother since if we take

V4 + vz) and Ez = \/7\/% (1, —V4 + vz) for example:

-

1
t, = —— 1,
b Va2 (

El't_:)zz V4+v2

1 1
@—wm“' ) T (L VA + )
= (P, +VE+12D,) (B, —VE+ 1% D))

2(4+ 2)

2(4+v2) (®, P, — (4 +v)D,-D,)

= m(ﬁ' — (4 + UZ)G)

2(4+ 2y (4+v)—(4+v?))=0.

Now since K; = 102 and K, = — T2 the Gauss curvature is:
2 2 4
44v2 \ 4402 (4+v2)2 <0

And the mean curvature is:
1
H=E(K1+K2)=O

A surface with mean curvature equal to zero everywhere is called a minimal
surface. Given a boundary curve, ¥, a minimal surface, S, is a surface that has the

smallest area among all surfaces with boundry curve y. The helicoid is an example
of a minimal surface.
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Ex. A corollary to Euler’s theorem says the principal curvatures are the maximum
and minimum normal curvature of all curves through a given point on a surface.
Show by direct calculation that this is true for the surface in the previous example.

Since any two curves through a point on a surface with parallel velocity vectors
have the same normal curvature, we only need to calculate the maximum and
minimum normal curvatures of curve of the form:

u(t) =uy+t

v(t) =vyg+at; a€R
and the vertical line u(t) = uy, v(t) = vy +t,
where y(t) = ®(u(t), v(t)).

So: u'(t) =1 and v'(t) = a (except for the vertical line).

From the previous example we know that:

E=®, - &, =v2+4 L=®,,-N=0

— — — — 2
F=®,-®,=0 M=, N=7-=—
G=0, d,=1 N=®,, N =0.

Plugging in to the formula for normal curvature at ® (1, vy) we get:
4a

_ ) @@ ) _ ek

Kn_

E(@)2+2F(ﬂ)(d”)+c(ﬁ)2 vE+4+a?

dt
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Now find the max/min of K,, over all @ € R and the vertical line u(t) = uy,
v(t) = vy + t.

Through direct calculation we find that:

v0+4 a?

Kn(a) =
/4+v0 v +4+a2

By checking the sign of k;, () as we go through the points & = + v(z, + 4 we

see that K, (@) has a local minimum at a = / vg + 4 and a local maximum at

vé + 4.

=0 = a=+.vi+4

Since liT K,(a) = 0, the local maximum and minimum are global maxima and
a—+oo

minima.
2
Kn (— v+ 4) =
[4+v3 \ vE+4+(- [vZ+4)2
_ 2
2
vy +4
2
Kn( v + 4) =
/4+v(2) Vi+4+( [v2+4)2
2
vE+4’

For the vertical line u(t) = ugy, v(t) = vy + t, we find kK, = 0, so the
absolute maximum and minimum of the normal curvature occurs at the principal
curvatures.



Ex. Given the Gauss curvature, K, and the mean curvature, H, find the principal
curvatures.

H=-(k+1g) ()
K=Kk, (**)

Now solve these equations simultaneously to find k1 and k.

K
From (**), Ky, = -
1

From (%), 2H = (k; + k) = k1 + KE
1
2Hrk, = k¥ +K

0 =«k#—-2Hk, + K

Now using the quadratic formula:

K, = 2Hi\/42H2—4K _ H+VEE—K
So we have:
K, = H+VH2—K
Kk, = H—+VH? —K.
In the previous examplewe had: H =0, K= — = )
(4+v?2)2

4 2
g = 0+ \/0 T G T a2

-2
K2=0—\/0+ i

(4+v2)2 ~ 44p2°



